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Time allowed for the test: 50 minutes
Pl ER 50 A 48

Instructions:

1.

o &M D

o

o M D

This test contains two sections:

Section A: Questions 1-30

Section B: Questions 31-36
Answer ALL questions.
Write your answers on the answer sheet.
Write your name, class and class number on the answer sheet.
You may do your rough work in the blank space of this test
booklet and there is no need to rub it out after the test.
You can use a pencil or a black/blue ball pen to answer the
questions.

The use of calculator is not allowed.



Note: AR

Not all diagrams are drawn to scale. LB A B F o

SECTION A (60 marks) v 2R (60 4)

Choose the correct answer. You only need to EN DRk o B4 NUEHE P AREE %
write down the letter preceding the selected FhE e A o

answer. '

1. | 2 || 1]]7]is a 3-digit number. |21 |[*| 8- B=rdc- %
When it is divided by 18, the T K’/’F 18 AABcE 160 T F|UR
remainder 1s 16. Which of the mE |x]|?
following is | # | ?

A. |2 A212+18=11---14 A |2
B.214+18=11---16
l 4 C216+18=12 l 4
D.218+18 =122
C.le6 C.|6
D.|8 D. |8
Magazine Subscription Plan
AR Ao
Price per each | Total number of subscription days
EENY WITH X
$20 15
2. 27 students subscribe magazine 2,27 £ 84 Ry b dlimpse
according to the above plan, how m™oBIPEXRER S
much should the pay in total?
ey shou ay: 8100 AR/ B
l $8100 Th2(§]X{15x12d7p y l $ e
B.$540 1O B.$540
C. $405 C. $405
D. $300 D. $300

B ATHE T ]iﬁla L0 4 3



3. The shoe store has 18 shelves.
Each shelf has 9 levels and each
level has 12 pairs of shoes, how
many pairs of shoes does the shoe

store have?

A. 162 The shoe store has:
12x9x18

B.216 = 1944(pairs)

C. 1494

3. B I8BRFE - * BRI

Ok - & kG 12 S > B
LF RS 5O

A. 162 =7
12x9x18

B.216 ~ H®)

4. A company will distribute 4
notebooks to each of 164
employees. But it has only
prepared 500 notebooks. How
many more notebooks does the
company need?

A, 1 156 The company needs more
4x164 - 500

B. 656 = 156(notebooks)

A. 1156 #2edgeied
4x164—500

B.656 - !50(*)

5. Find the H.C.F. of 56 and &4.

A 4 2156 84
2128 42
B.14 7014 21
2 3

28 The H.C.F. of 56 and 84 is:
2x2x7 =28

D. 168

5. #.56 4c 84  H.CF. -

A. 4 256 84
228 42
B. 14 7[14 21
2 3
l28 56 4 84 ch H.C.F.4_:
2x2x7 =28
D. 168




6. What is the result of adding up all
the factors of 447

W s«

The factors of 44 are: 1, 2, 4,

11,22, 44
B. 83 The result of adding up all the
) factors is:
1+2+4+11+22+44
C.69 _q
D. 39

6. 4= 44 v Fllicdp de e & E

509
.84 44 nFHF 110204010
22 5 44
B. 83 E15 FlHcAR o ihih % B
1+2+4+11+22+44
C.69 =384
D. 39

7. If each Erepresents 1,

what is the result of adding up all
the numbers represented by the
shaded parts of the following

figures?
ANAV
L/ &
3
A. ?
6 3 1
B. 5 R
3
C. 4
1
I3

BEApScte R R 509

\

N
© 8
1

B. 5
3

C. 3
L
8

8. Which of the following has the
largest value?

A 55454005  Al0ss

C. 60.55
B.55+5.05+0.05 & %%
B 55+5.05+05

D.55+0.5+0.55

8. THVR- I hE AL P

A.5.545+0.05
B. 55+5.05+0.05
@ 55+5.05+0.5
D. 55+0.5+0.55




9. Abox of 16 ballpoint pens sells for | 9. - § A+ £ 35 164> & &
$240. The average price of each $240 - 2 p + £ T 9E R
ballpoint pen is more expensive FRELDESS e F i E
than that of each pencil by $5. To Hst?
buy four dozen pencils, how much
should be paid?

A. $720 The average price of each pencil A. $720 &g T T e A
is: 240+16—5=$10
240+16—5=$10 o
B. $640 There are: B. $640 }10X12><4
10x12x4 = $480
l $480  _gus0 l $480
D. $360 D. $360
:— 500mL
10. In the above figure, how much 10. 2 B> 2 %7 k5> 7°

water is there in the container?

A. 875mL  Thereis: A.875mL s ¢k
500-+4x6 e

l 750mL  ~ /°0mb) l 750mL = 750(mL)

C. 625mL C. 625mL

D. 125mL D. 125mL




11. Which of the following numbers is | 11. T 7|¥8— B #cae 44 3 & ",f ?
divisible by 3?

A. 7298 T+2+9+8=26 A. 7298
74+340+0=10

B. 7300 73t0+3=13 B. 7300
74+3+0+5=15

C. 7303 C. 7303

P . i i
12. If 9 Is converted into mixed 12. F 3= gﬂ ES WA : JERT A WA (4
. 4
fraction, it is between 2y and fy T 2%& 2%1 o T | eR—
8 . .
2?. Which of the following is B#ET 5 AP ehiE ?

the possible value of P?

4 22 8 26
A. 20 S A. 20
B. 22 2. L.% B. 22
22<P<26
@ ® 2
D. 27 D. 27

13. The fourth common multiple of 13. @ BHchs e B 23 fHcd
two numbers is 168. Which of the 168 o 10T R~ o e 5y § 5
following groups of numbers may ® B ?
be these two numbers?

A. 21 » 84The L.C.M. of the two numbers is; A. 21 > 847 Bl ] o i fici
168+4 =42 168+4 =42
A. The L.C.M. of 21 and 84 is 84. A.2]1 fr 84 engo] o B Hd 84 o
b b
B.3 56 B. The L.C.M. of 3 and 56 is 168. B.3 56 B.3 4r 56 g | = & #ic 168 o
C. The L.C.M. of 6 and 7 is 42. C.64c7 e ] 2 B #cE 42 -
67 D. The L.C.M. of 4 and16 is 16. 67 D.44c 16 erd ] 2> B #d_16 -

D. 4> 16 D.4- 16




14. The number was 2109.457, but
Carmen wrongly exchanged the
hundredth digit and the tenth
digit. Which of the following

number was written by Carmen?

A. 2019.457 1n the number 2109.457,

The hundredth digit is 5’

l 2109.547 and the tenth digit is ‘4’.

Exchanged the hundredth
digit and the tenth digit:

14. % #1c¥_2109.457 > v §_R%3 #r
FlE e et p e F 3
oo T YR- B E_RZ B D
#w?

% 2109.457 io B #i?

A. 2019.457
p/\i“@:—r rs,, +4~»
Bl 2109547 rer 4

2109.457 3 $F At A
- crdicts £.2109. 547

C. 2109.754 5109 547 C. 2109.754
D. 2159.407 D. 2159.407
o | Each =% | Each
< \‘ 81250 =3 $8.60
= = B
15. There are 2 croissants and 1 15. B & 2 %p ’ﬁ 2L be el
pineapple bun in a discount BrEs

package, the price is $30. If the
same number of croissants and
pineapple bun are bought, how
much can be saved by buying the
discount package?

l $3.6 It can be saved:

12.5+12.5+8.6—30
B. $3.9

C.$5.8
D. $7.8

=$3.6

‘% K$30 it

l $36 GE A

12.5+12.5+8.6—30
B. $3.9

=$3.6
C.$5.8

D. §7.8




16. Jack has 29 $5 and $10 vouchers
altogether. They are worth $190.
If Jack has 11 fewer $10 vouchers
than $5 vouchers, how many $5

vouchers does he have?

A.9
$5 vouchers ’ ‘
29+11)
B. 1 o ---------7 | youchers
$10 vouchers | 11 vouchers!
20
He has:
29+ 11)=2
D. 25 = 20(vouchers)

16. #2424 $5 40810 chik * X &
205 > U A ES190 o 4ok
A2 en§10 L Kt §5 o X

SRLE LR R SRR
5 7

A.9
$5 o %’ ‘

B. 1]9: ,,,,,,,,,,,,,,, } 29+ 11358
$10 & # X [ T

# 20

144F$5 A G
D. 25 (29+11)+2
' =20(3)

17. Which of the following
descriptions about isosceles right-

angled triangles is incorrect?

A. A square can be formed by
fitting 2 isosceles right-angled

triangles of the same size.

B. A trapezium can be formed by
fitting 3 isosceles right- angled

triangles of the same size.

C. A triangle can be formed by
fitting 4 isosceles right-angled

triangles of the same size.

. A parallelogram can be formed
by fitting 5 isosceles right-
angled triangles of the same

size.

17. T7|7R- 355 M E'EE &= &

A BB Al nEEE

AT UE N - B
"‘7«30
B. = =~ J#EP&m:ﬁ”ﬂ-e
= &A%
7 ¢
C.2eRBx | FHEELE
A AV S
Z 4350
. T BEX AR EED
2 U - B
T iFw A e
A B. C




18. Anne drew a straight line on a
rectangle paper and 2 trapeziums
were obtained. Which descriptions

in the following must be correct?

I. There are two right angles in

each of the trapeziums.

II. The perimeter of two

trapeziums were equal.

III. There was an obtuse angle

in each of the trapeziums.

I & BHE50% R ApE o

ML & BH584 - &4 4

L -'/ H IL / I1I.
ul O /

A.Tand II only Ao x5 121
lIand III only l S|
C. 11 and 111 only C.rj IIx1I
D. LII and III D. I-11* I
( ) 6cm ( ) 12cm
( ) 6cm ( ) 15cm
19. Which of the following triangles 19, % P H P 4ok 7 0 =2
can be formed by using three of DALY - B Sl
the above wooden sticks?
A. equilateral triangle A = <§ z &7
l scalene triangle l = &3
C. isosceles triangle C. %= &7
A. There has not three wooden sticks of the same length. .
D. isosceles right-angled D. £ 3% & = &7
B.6+12 =18, 18 > 15, a scalene triangle can be formed. CRAF ZERRApR A o
triangle B.6+12=1818>15 > ¥ 11w &
7% —i <¥ ’i_ *}
Cand D. 6+6=12, 12 <15, an isosceles triangle can not CHD.6+6=12-12<15> %
be formed.

BT % () 4) 10

TR L



20. In the above figure, when Ken
arrives at the junction, he will
turn left and walk on. In which

direction will he walk then?

I southeast

B. southwest

C. northeast

D. northwest

l—]%d]\i; ’ié?iﬂ ﬁ‘)’};f—‘r;ﬁlj&\
S
LRSS
I L=
B. o=
C. &L
D. & #

11



x X X
Bank Railway Station Park
£Li5 B R EE o
N
N X X
School Kiosk Supermarket]
g &= A M
21. If the Railway Station is in the 21, dob sk A 8 2 il A
northeast of the Kiosk, what is in > o AREL e B F BB
the west of the Railway station? > 9
A. Bank A. £§=
B. Park B. =
l School l -
D. Supermarket D. 4z %7 3

22. The perimeter of the rectangle is
36¢cm. If the length is twice the
width, what is the area of the

22. A% B E_36cm o ek £
EK%@””’z B i >

m fEE S Y

l’l/

rectangle?
A_ 36cm2 The sum ofthe length and width of A 3601’1’12 £ A BB A2 fr it
the rectangle is: 36+2 = 18(cm)
Bl 72cm® 30 e e 72em? FARLBRDLG iR
The length is twice the width, qo the Cm B B3R
sum of the length and width is B TrR A2 e AR ARSI -

C. 162cm?times the width.
The width of the rectangle is:

D. 288cm2!¥ 3 ~ blem)

The area of the rectangle is:
(6x2)x6 = 72(cm?)

2%"qu@)§1}\:
C.162cm 18 3= 6fcm)

ﬂmmyf

D 2880m (6><2)><6 72(cm2)

12



28cm :>

10cm
tem |
B
Figure 1 Figure 2
- B =
23. Figure 2 is formed by fitting the 23. Bl= A.d Bl- 7o enz A
three rectangle shown in Figure 1. B Fpra & > v R E S
What is its perimeter? 59
. 108¢cm  Its perimeter is: l 108cm v % A A
(28+5+5+16)x2 (28+5+5+16)x2
B. [14cm '™ B. 114cm '™
C. 136cm C. 136cm
D. 148cm D. 148cm
A
X
14cm A\ Y
Z
A\ 4
B ———

18cm

24. In the above figure, W, X and Yare | 24. & F Bl > W > X v Y it =
squares. Find the area of Z. A5 0 RZ ehm ff o
l 24cm2 The sides of X and Z are: l 24cm2 XArY g £ £ ¢ 18—14=4(cm)
18— 14 = 4(cm) Z g AL
7 Thearea of Z is: ) (14—4—4)x4
B. 320m (14—4—4)><4 B. 32CIIl :24((:1]]2)
=24(cm?)
C. 124cm? C. 124cm?
D. 252cm? D. 252cm?

BATIEYH % (] 4) 13



34m

t 3m
., quden .| 20m
3m - [ 3m
y3m
25. A rectangular garden is in the 25. - H.& 34m > B 20m & > A
centre of a piece of rectangular 2y By - BRI
land of length 34m and width 20m, 4o b Bl#Tor o -] m",f 3por
as shown above. The weeding fee & T3 4822 “,f iy gk N
for the garden is $22 per m?. What *H 509

is the weeding fee in total?

A. $392  The garden is (34—3—3)m lopg and A.$392 #FREGB4-3-3)m>

(20—3 —3)m wide. B(20—3—3)m -

The total weeding fee is: L W e N G
B. 6336 22%(34—3—-3)%(20—3—3 B. $6336 T22x(34j3—;x(20—3—3)
B ss624 B ss624 s
D. $9680 D. $9680

26. The above figure is formed by 21 | 26. F Bl &_d 21 i = -] 48 e et >

squares of the same size. The area A o BB E A G ff A
of one square is 36cm?. What is 36cm? o + Bl R E_ 509

the perimeter of the above figure?

A. 60cm 36=6x6 A.60cm 36=6x6
The side of each square is 6¢cm|. £ B> AauE £ §_6cm e
The perimeter of the above figpre is: l 120 P Bl AR
cm - v R
l 120cm (6x7+6%3)x2 (6x7+6x3)2
= 120(cm) _
C.252cm C.252cm ~ '20Cm
D. 504cm D. 504cm

BATIAH B L () 4) 14



IR S NS N

A
Y

32cm

27. The above figure is a rectangle of | 27. * Bl & - # & 32cm > F 16cm

32cm long and 16cm wide. Jane kA0 G R T A
cuts along the dotted lines and 3 8B ] Ap e > A5
divides it into 8 squares of the FpHY 6BLEAHEF -
same size. Then she puts 6 of the BETEA, > 4T BT o i B
squares together to form a new FTEA e R A S 09

figure, as shown below. What is
the perimeter of the new figure?

A AN

N AN

A. 48Cm  The perimeter of the new A. 48cm EBATE A % KA
figure is: (16+2)>3>4
B. 64cm (16:2>3 B. 64cm = 96(m)
) =96(cm) )
C. 84cm C. 84cm

B ATHE T {E: i L4 15



Number of Rooms Rented in a Hotel in the Past Five Days

SRR iER T X AED S ok d

P A A
enllARA
R RATA
Ty |
AR A A

28. If the rental fee of each room is
$150 each day, how much could
the hotel get from renting rooms
in the past five days?

A. $750  The hotel could get

150x(4+6+3+4+7)
B. $3450 %3000
l $3600
D. $3750

DEDED R BD

S
5
Y

W

ljjach A stands for 1’ room
sp nd 1y

~

C,
C,

4

{a
ATATATAS

Ll Lnd

28. 4rik E S FE X e b oA
e

$150 » jFyE B4 T = 420 5 B

LN VA v L,
L@ AR 509

A.$750 =@EHa

150x(4+6+3+4+7)
B. $3450 - $3000

B 53600

D. $3750

BATRAH E5() 4)

16



Number of Vehicles Passing the Toll Station Yesterday
PEX Sy xbend jmiicp

100
” 90
2
L 80
= &
2= 70
Ty 60
=
2E 50
g = 40
Z 30
20
10
0 . .
Lorry Coach Private Car Taxi
boa g4 72 ZEES
Types of Vehicles
S Lk
29. How many times of the number 29. PF X ST Y s fmit i
of coaches is the total number of L@l EN; Y
vehicles passing the toll station
yesterday?
A. 3 The total number of vehicles A.3  EiEicy shend Rl
passing the toll station is 70+60+95+75
B.4 704+60+95+75 B.4 =300G7)
' =300 ' 30060 =5
300460 =5
_E _E
D.6 D.6

AT E 5 (] 4) 17



Sales of Juice in the Past Five Months
w3 T B RS E

900

800

700 700
7 600
o
g% 400
S® 300

200

100

0

January  February = March April May  Month

— B - = . 70 LINES

30. The employee wantedtousethe | 30. L f T % Bk & 72 I
v
]

above graph to show the sales of B2 E i g ek Letk
juice in the past five months. T el Pk R ot
However, he forgot to indicate il d TR R Ra g &
the sales of juice in April and 30004 > @ 2 T 0 K ndl £
May in the graph. It is given that Ao P en3 BT 8d &S
the total sales of juice in the past 5049

five months was 3000 cups, and
the sales of juice in May is 3
times that in April. How many

cups of juice were sold in May?

A. 300 The total sales of juice in April and May are: A, 300 = * frI ? & F sl & £ ¢

3000—700—600—500 = 1200(¢ups) 3000—700—600—500 = 1200(+7 )
B. 600 The sales of juice in May is 3 times that in B. 600 TP &gl EEe ) 03 R
’ April, so the total sales of juice in April and ) SErlw 0 el 0 gl B2
May is 4 times that in April. AT
l 900  The sales of juice in April are: l 900 w1 on ;w PEEE
1200+4 = 300(cups) S
D. 1200 The sales of juice in May are: D. 1200 1}2074‘: 3()0@(*1)21 o
300x3 = 900(cups) IR ORE A
20052 — Q0D LLEEN
JUUST = JUULTA)

End of Section A

B 2R

BATALAIH & 5 (] 4) 13



SECTION B (40 marks)

Working steps must be shown in answering
questions in this section unless specified
otherwise.

z 3R (40 &)
xﬁ;}%‘*’—ﬁ]jﬁ e s B AIRA PR AL

B‘% ’ /;Fl-);l

LA

39cm
31. (a) The above figure is made 31.(a) * Bld 4 B~ ] fr’bﬁ* #E fe
from nine rectangles of the E 3 A e A o &L A
same size and same shape. R EF N 2(R R
What is the perimeter of each 7 %) [3 4]
78cm rectangle? (Give the answer 78cm
The width of the small rectangle is: 39+3 = 13(cm) &2 A E T 39+3 = 13(em)
only) [3marks] & Ak 2 13x2 = 26(cm)
The length of the small rectangle is: 13x2 = 26(cm) 2 AeE R H T (261+13)x2 =78(cm)
The perimeter of the small rectangle is: (26+13)x2 = 78(cm)
(b) What is the area of the whole (b) BB chm A5~ 7
figure? [4 marks] [4 & ]
26%x13%9 26x13%x9
=3042 =3042
The area of the whole figure is 3042c¢m?. BB B2 e ff 23042cm? o
BATALYH @ % (] 4) 19



Vacuum cup Membershlp price

oIV
$96.40

Membershlp price

Electric kettle
Tk &
$214.90

32. The above shows the prices of the

vacuum cup and electric kettle in
a department store. Holders of the
membership card can enjoy the
membership price, but it could
not be used together with any
other promotion offers. My father
wanted to buy one vacuum cup

and one electric kettle.

(a) If my father had the
membership card, how much

should he pay? [4 marks]

89.6+205.2
=294.8
He should pay $294.8.

(b) The department store held a
promotion and gave out
vouchers of $20 each. A
customer could use one
voucher for any purchase up to
$300 or more. Should my
father use the voucher or the
membership card in order to
pay less? (Give the answer
only) [2 marks]

voucher
If he uses the voucher, he should pay:

32. 1 }El % o m‘/w_’ﬁ'ff'& 4N
AR
lf}”ﬁg x%’ligﬁ—{‘%?
zﬁb% RRERT o § R

BiFatrfcl BT KE -

@ 4k §¥FF AT B
TR 4 4]
89.6+205.2
=29428

i i #9204.8 -

(b) T f 27 &7 A RS
P A 5k 1 520 hik £
X, m?i—*"' %3300 > T
R ES -k HAX
B 8RR N4
¢ ﬁ’” v
BL2(R AR

<R

f« ﬁi‘g“ £

1% %)
[2 ~ ]

&%
T S T
96.44+214.9—20 = $291.3 » 291.3 <294.8

96.4+214.9—20=8291.3,291.3 <294.8

BATRAH E5() 4)

20



33. Mr Wong planed to have the

lunch buffet with his wife and
two sons. The special offers from
Sunny Restaurant and

Delicious Restaurant were as
follows.

Sunny Restaurant
(Cpjre- 7

$228 each

Half price will be offered to
the fourth person

& 9228
S v EL ¥ (2%

(a) If Mr Wong’s family had the
lunch buffet in Sunny
Restaurant, how much should
the four of them pay in total?

2283 +228+2
— 798 [4 marks]

The four of them should pay $798.
(b) If Mr Wong’s would pay by
credit card, at which
restaurant should they have
the lunch buffet so as to pay
less? How much less can they

pay? (Give the answer only)
[3 marks]

At Delicious Restaurant, they should pay:
(220—25)x4 = $780,
798 —780 =18

Delicious » 18

33. § A4 L 3328 205

I AR B AR RICE
T—';\% @"'ﬁ 'I'}"T %'%‘ o

Delicious Restaurant
RIREEE

$220 each
Each can get the reduce of $25
when using credit card for payment

& 9220

P o & T R S$25

(a) S %_’ti - i ’l]_|. H?; A;é% ;
téfl_@éiﬁ%,féﬂiﬂﬁ &,{'_’jg
H39 [4 4]

228%x34-228+2

=798
e A E 43798 o

(b) 'ﬁ"f’%i’ti ;‘:Z:-g T H + 4

FoonPRZ AT BFE R
LR ER AT R 7
72 (RRERNER)

[3~]
ZEvk 0 18
LEKER B PR
(220—25)x4 = $780 >
798 —780 =18

BATRAH E5() 4)

21



34. Amy used 16 equilateral
triangles of the same size to form
the shapes in Figure 1 and 2.

L

Figure 1
g],_

(a) If the perimeter of Figure 2 is
24cm shorter than that of
Figure 1, what is the perimeter
of Figure 2? [4 marks]
:i§+(12—8)X8

The perimeter of Figure 2 is 48cm.

(b) If the Figure 2 is changed into
a quadrilateral, what kind of
quadrilateral should be
obtained? (Give the answer
only) [2 marks]

Parallelogram

VAVAVA

4. 33+ 16~ [ 4plF cnEF =
5w - 2 BlZ AR o

\VAVAV

Figure 2
Bl =

(@) 4% Bl= 0% K Bl-
¥ Rm24cm o BlZ %R

#2507 [4 %~ ]
24+(12—8)x8

=48

Bl = % R §_48cm o

(b) 4o Js Bl = o & - B if
A5 T LA DR 1§35 9

(FABNES)  [24]

= e 7

AVAV
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35. The daily rent for a booth at the flea
market is $90.

(a) Eric has $285. How many days

can he rent a booth at most?
285+90

[4 marks]

= 3 .o ] 5
He can rent a booth for 3 days at most.

(b) The serial numbers of Eric’s

booth was a 2-digit number.

The number was a multiple of

35. prR P OH- BHEETE X ave g &

$90 -
(@) 725782850 1 B 57 AR
#riv 75 9 [4 ~ ]
285+90
=3...15
B 5T UFERE 3 X o

(b) 2 & et chip s - B3
8o ZEE_14 iz dc

T An 10 g o iz an

14 and divisible by 10. What S R LR P(R AR E
was the serial number of that %) [2 A~]
. 70
70 booth? (Give the answer only) Bt 1A 5 IR 5 AT s 56 5 0
The multiples of 16 are 14 » 28 » 42 > 56 » 70 » ;j ﬂ()lgﬁil}llz 1428425610
8498 112...... [2 marks] o u o Omﬁﬁ 10
B~ + % ¢ = |7
An integer whose units digit is 0 is divisible by 10. PR R =T
Toy area
R=E W
X
Snack area
X
X
Clothing area
N «—f}—
PR %
(¢) According to the above floor (c) FHypmt pea @ FeahTw B
plan of the flea market, the JREFRBE S Fend g > o
clothing area was in the ek d2 D RKEE G FEAIRE
southwest of the snack area. If T oo 0 B RB S e 49
Eric wanted to go to the toy (ZEB 0% %) [2 4]
area from the snack area, in L
which direction should he go?
(Give the answer only)
theast
soutneas [2 marks]
BATA AW B X (] 4) 23



Sales of Fan in an Electronics Store in the Past Six Months

ERELEL B R SOME

800

700
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550

500

()

500

£

400

Sales of Fan

300 350

200
100 L0

150

February March
- 3 - A

36. (a) Comparing the sales of fans by
month, what was the difference
between the greatest and the
smallest sales of fans? (Give

the answer only)  [2 marks]

550
The difference was: 650— 100 = 550

(b) When the difference between the
sales of fans in two months was
greater than 200, it indicated
that there was a significant
change in temperature.
According to the above graph,
in which two consecutive
months was there a significant
change in the sales of fans?

April » May Explain by using the data.

The sales of fans in April is 250, the sales
of fans in May is 500, the difference [4 markS]

April
7 A

Months

LRRES

May
7 A

7

June July
)

= A =
7N

32. (a) FV b B EER G >
gt o b S E
MEZ P 2(RARNER)
[2 ]
550
B Sengl £ 40 A D 650—100=550( o)
(b) 55 BApE? Fh L4 E
E L3200 50 BT F
BF P AR o T
DRIERE S Ve A RALN:
i g R PR
[4 ~]

it oo

oo T
w0 b gl E 250 50 T 0 b Sens
£ 4500 & > 4p £ 1 500—250=250() >

250>200

was:500—250 =250,

250>200 End of Test Paper
PSR E R
BATALYH @ % (] 4) 24



